

1. , b  h, 

 - 
(i)  = 2 (b + bh + h) 

(ii) 
=  ×  = bh 

(iii) 
= 222 hb 

(iv) 
 = 2 ( + b) h 

2.  ‘a’ 
- 

(i)  = 6a2 
(ii)  = a3 
(iii)  = 3 a 

3. r  h
 - 

(i)  = r2 
(ii)  = 2rh = × 
(iii)  = 2r (h + r) 
(iv)  = r2h =  × 

4. R  r (R > r)
 - 

(i)  = (R2 – r2) 
(ii) = 2 (R + r)  h 

(iii)  = 2 (R + r) (R + h – r) 
(iv)  = h (R2 – r2) 

5. r, h 

- 
(i) 2 = r2 + h2 
(ii)  = r 
(iii)  = r2 + r 
(iv)  = 3

1 r2h 

6. r 
(i)  = 4r2

(ii)  = 3
4 r3  

7.  h, 

r1  r2  - 
(i)  = 3

  (r12 + r1r2 + r22) h 
(ii)  = (r1 + r2) 
(iii)  = {(r1 + r2) + r12 + r22} 
(iv)  = 2212 )rr(h 
(v)  = 

21
1
rr

hr


(vi) 
= 

21
1
rr

r



(vii) = 3
h  2121 AAAA  ,



 A1  A2

   
 
Ex.1 

 8 m  28 m 
 13 

m : 
(i) 
(ii)   3.50 

Sol.  

(i)  : 
r = 28  h = 8 m 

  = 2rh 
= 2 × 7

22 × 28 × 8 m2 = 1408 m2  

8m 
13m 

28m 
 : 

 r = 28 m  h = 13 m – 8 m = 5 m 
 2 = h2 + r2 2 = 52 + 282 = 809 
  = 809 m = 28.4 m 
  = r 

= 7
22  28 × 28.4 m2  = 2499.2 m2  


= 

 + 

 1408 m2 + 2499.2 m2 = 3907.2 m2
(ii) 

= 3907.2 ×   3.50 =   13675.20  

Ex.2 

Sol.  

r 
 h1  h2

 = r2h1  
= 3

1 r2h2
 : 

 = 2 × 
 r2h1 = 2 × 3

1 r2h2

  h1 = 2h3
2   3

2
h
h

2
1    

h1 : h2 = 2 : 3 
 
Ex.3 

 : 

(i) 
 

r (ii) h  

(iii) r



h    (iv) r



Sol. (i) 
=  + 
= 2r2 + r= r (2r + ) 

(ii) 
= 2 × 

 + 
= 2 × 2r2 + 2rh = 2r (2r + h) 

(iii) 
= 
  +  + 
= 2r2 + 2rh + r= r (2r + 2h + ) 

(iv)  

= 2 = h2 + r2   = 22 rh 
= 2r2 + r = r (2r + ) 
= r   22 rhr2

 
Ex.4  25% 

Sol.   r  
 = 4r2

 = r + r 25% 
= r + 4

r5r100
25 

= 4 4
r25

4
r5 22 


 

= 22 r4–4
r25  = 4

r9
4

r16r25 222 

%100  

16
9%100r4

4
r9

2

2




 × 100% 
= 56.25% 

 : 

 = 100 
 = (100)2 = 10000 

 = 100 + 100 25% = 125 
  = (125)2

= 15625 
 = 15625– 10000

        = 5625 


= %100

= %1001000
5625 

 = 56.25%
 20% 

20% 
Ex.5 1 cm, 6 cm  8 cm 

Sol.   = R cm 
  3333 )8(3

4)6(3
4)1(3

4R3
4  . 

 R3 = 1 + 216 + 512 = 729 
 R = (93)1/3 = 9 cm  Ans. 

Ex.6 
5 cm 

 3.5 cm 
( = 7

22  )

3.5 cm
5 cm 

Sol.  = 
 + 

= 2
1 (4r2) = 2r2



= 


  2
5.3

2
5.3

7
222 cm2 

=  –  ( ) 
= 


  2

5.35 cm = 3.25 cm
 (l) 

= 22 hr   = 2
2

)25.3(2
5.3 


  cm 
= 3.7 cm ( ) 

 = rl 
= 


  7.32

5.3
7
22 cm2 

= 


  2
5.3

2
5.3

7
222 cm2+ 


  7.32

5.3
7
22 cm2 

= 7
22 × 2

5.3 (3.5 + 3.7)cm2

= 2
11 ×(3.5 + 3.7) cm2 = 39.6 cm2 ( )

 
Ex.7 

 5 cm 
 4.2 cm 

( = 7
22 )

5 cm
5 cm

5 cm

4.2cm

Sol.  = 6 × ( )2 
= 6 × 5 × 5 cm2 = 150 cm2 

=  – 
+ 

= 150 – r2 + 2r2 = (150 + r2) cm2 
= 150 cm2 + 


  2

2.4
2
2.4

7
22 cm2 

= (150 + 13.86) cm2 = 163.86 cm2 
 
Ex.8 

 26 cm 
6 cm 

5 cm 
 3 cm 

 ( = 3.14 ) 

26 cm

6 cm

3 cm 5 cm

Sol.  r 

 h ,  r' 
h' r = 2.5 cm, 

h = 6 cm, r' = 1.5 cm, h' = 26 – 6 = 20 cm 
l = 22 hr   = 22 65.2  cm = 6.5 cm 

( ) 



=  + 
– 

= rl + r2 – (r')2

= [(2.5 × 6.5) + (2.5)2 – (1.5)2] cm2  
= [20.25] cm2 = 3.14 × 20.25 cm2  
= 63.585 cm2 

= + 

= 2r'h' + (r')2  
= r' (2h' + r') 
= (3.14 × 1.5) (2 × 20 + 1.5) cm2 
= 4.71 × 41.5 cm2 
= 195.465 cm2 

 

Ex.9 
 ( )  1.45 m 

 30 cm 

( = 7
22 )

 

1.45 m 

30 cm

Sol.   h  r, 

= 
 + 

= 2rh + 2r2 = 2r2 = 2r(h + r) 
= 2 × 7

22  × 30 (145 + 30) cm2

= 33000 cm2 = 3.3 m2 
 

Ex.10 

5 cm 

 10 cm 

(= 3.14) 

Sol.   = 5 cm 
 = 10 cm, 

 = r2h  
= 3.14 × 2.5 × 2.5 × 10 cm3 = 196.25 cm3 

3
2 r3

= 3
2 × 3.14 × 2.5 × 2.5 × 2.5 cm3 = 32.71 cm3 

 = 
 – 

= (196.25 – 32.71) cm3 = 163.54 cm2
 
Ex.11 

 2 cm  4 cm 

( = 3.14 ) 
 

C

G

F 

B

H

E

O

A

P  



Sol.   BPC  ABC 
 ( )  (

) BO = 2
1  × 4 cm = 2 cm

= 3
2 r3 + 3

1 r2h

 = 


  2)2(14.33
1)2(14.33

2 23 cm3 
= 25.12 cm3 

 EFGH 

= HP = BO = 2 cm, 
EH = AO + OP = (2 + 2) cm = 4 cm 

, 
= – 

= (3.14 × 22 × 4 – 25.12) cm3 = 25.12 cm3 
= 25.12 cm3  

= 25.12 cm3 
 
Ex.12 

24 cm 6 cm 

Sol.  = 3
1  ×  × 6 × 6 × 24 cm3

 r 3
4 r3



3
4 ×  × r3 = 3

1  ×  × 6 × 6 × 24
 r3 = 3 × 3 × 24 = 33 × 23 
 r = 3 × 2 = 6 

 6 cm 
Ex.13 

 1.57 m  × 1.44 m × 95 cm 
60 cm 95 cm 

( = 3.14 ) 
Sol.  

( )  = r2h 
= 3.14 × 0.6 × 0.6 × 0.95 m3  

= l × b × h = 1.57 × 1.44 × 0.95 m3 

= (1.57×1.44×0.95) – (3.14 × 0.6 × 0.6 × 0.95)] m3 
= (1.57 × 0.6 × 0.6 × 0.95 × 2) m3  

= b
= 44.157.1

295.06.06.057.1


  m 
= 0.475 m = 47.5 cm 

, 

= 95.044.157.1
95.06.06.014.3


  = 2

1

Ex.14 1 cm  8 cm 
18 m 

Sol.   =  × 
2

2
1 


  × 8 cm3 
   = 2 cm3 

 = 18 m = 1800 cm 



 r, (in cm)
 =  × r2 × 1800 cm3 

 × r2 × 1800 = 
r2 = 900

1

r = 30
1

 15
1  cm  0.67 mm ( ) 




